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1 IERDBDINE - ik
® 3+2=5

® 3—-2=1

tryl ROFHHZEX,
(1) 5+2

3 1+2

(5) —3+2

B2 AOBDME - Wik
O 3+ (-=2)=3-2=1
@ 3—(=2)=3+2=5
try2 RXOFEZEX,
(1 5+ (=2)

@) 1+ (=2)

5) =3+ (=2)
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ER DB DI - FRiE(D)

g
fl3  EAOBDOREE
@ 3x7=-+21=21 EIVERENE
(+) % (
@ (=3)x(=N=+@Bx7N=21 (+) X (
® 3x(~T)=—-@Bx7N=-21 ?3?%

@ (—21)+3=—(21+3)=—T

tr y 3 5’(@%‘%%)@‘&0

(1) 5x4 (2) (=5 x(—4)
(3) 5x(—4) (4) (—5)x4
(5) 3x(—8) (6) (—3)x8

4 EEDOEDERE
O 21+3=+7=7
@ (—21)+(-3)=—+(21+3) =7
® 21:+(-3)=—(21+3)=—T
@ (—21)+3=—(21+3)=—T

try4d RoOFEZEX,

(1) 20=5 (2) (—20)+(-5)

(3) 20+(—5) (4) (—20)+5

(5) 24+(—3) 6) (—24)+3



ER DB DI - [RE(2) (1

5 FREOFHE

O 42=4x4=16

@ (—4)=(—4x(—d)=4+Ux4=16 (FAfFFIE77 =)
® —42=-(4x4)=-16

tr y 5 >)/_\’®§+%%“@J:o

(1) 5 2) 6
3) (-5)? 4 (-6)?
(5) -5 6) —6°

fil6 HFEDOFR(2)

O (—1D)x(—2)x(—=3)=2%x(—3)=—6 (B2~ 4 FR)
@ (=2=(-2)X(-2)x(-2)=4%x(-2)=-8

@ —2°=—-(2x2x2)=-8

try6 XoOFEZEX,
(1) (=2)x(=3)x(—4) (2) (=2)x(—4)x(—6)

@) (=4)° 4) (=5)°

(5) —4° 6) —5°
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O 3XT7T+9=21+9=30 (X, =2 5oeicEHE)
@ 21+3-3=7-3=4

® 9+3x(-7)=9-21=-12

try7 ROFHEEZHRL,
(1) 5x4+3 (2) 20+5+6
(3) 345x4 (4) 6—-20+5

(5) 3x(—8)+20

f18 P DE L - 7 5HE (2)
@ 3XT+3x3=21+9=30
@ 21+3-9+3=7-3=4
® 18+2+3xX(-T7)=9-21=—12

tr y 8 9’(@%1’%%“@'4:0
(1) 5x4-+1x3 (2) 20+5+2x3

(3) 1x3+5x4 (4) 18+3+(—2)?

(5) (—3)x8+5x(—4)
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(3) 8><( 9> 4) 3 X%
1
(5) ?X(—8)
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O g5 =3X =13
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@ —gFb=—yXie=—1g
tryl0 ROFEEREX,
4.5 2 .10
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1,4 _ 144 _5
O gt3="3 =3

tryll ROHEZE L,

1,4
W 5tg
2 4
G 5y
2 17
© 55

112 ok - #ik(2)

1,,_1 2_1,4_5
@ 2+2—2+2><2— +-=

tryl2 ROFEEZREX,

(1) %+1
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@ 1.6+051=211

©® 931-14=791

tryl3 XoOFHEEELX,
(1) 1.7+44

(3) 224-3.1

Bl 14 INEDOFERE - Brik

O 4.3x%0.32=1.376
©@ 3.25+1.3=25

tryld ROGEEREX,
(1) 44x27=

(3) 16.2+2.7

pIGl
1.6 9.31
4) 051 1.4
2.11 7.91
(2) 4.740.58=
(4) 7.21—-2.65
25
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0.32 260
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1376 0
(2) 12.3x3.14
(4) 3.2+1.25
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#1537 (1) ROFTEZ LRI\,

D 2x(—3)*=6 .

=2X3X3+6 18

=18+6=3
tryls ROFEZLAEIV,
(1) (=2)x(=2)x(-2) (2) 3x(=4=+(-2)
(3) 4X5—7x3 (4) 21+3—-2x2

(5) (4+3)x6+-2  Gam)

16 tw(2) ROR%E X, D52 MHEOTICRLAR I WV,

® ax3+bakﬂa+§— () & — AW TE A

tryle RoXEX, +0RBE2#HbIICEKL R,
(1) xXxXx (2) xXy+z

(3) 4Xa—bx3 (4) x=+3—yx2

(5) (a+b)xXh+2
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B 17 faEOFE ()
FaEEA
O a**xa*=(axaxa)*x(axXa)=a*+a?=a’ [1] a»xar"=am*"

[2] (am)nzamxn

® (a®)?=(a*) x(a*)=(aXaxa)x(axXaxa)
—ati=gs

tryl?7 ROFEEZEX,
(1) a?xa* (2) axa®

(3) (a®)* 4)  (x?)°
(5) a?xa*Xat

f118  fEEDEHE(2)

(a?)*=(a?b) x (a?) X (a?) s
2 2N 2 FEEGEHI
=@ xaXa) X (bxbxh) 3] (ab)" =a"b"

tryl8 ROFHEEZE L,

(1) (a’?)? 2) ()’

(3) (a*c?)? (4) (2a°b)?
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DO 3x+2x=0B+2)x=bHx (XFTLK Y, REEHET )
@ 3a—5a=(3—-5a=—2a
tryld RoOFEZEL,
(1) x+5x (2) 4x—3x
(3) ba—Ta (4) —2x+5x
(5) —2ab-+4ab
120  %IEA
RO IEA DRI % KD 7 X 0,
x2—3x—2+3x*+x+3

=% R (JANER =
— 2+ 3x2—3x+x+3—2 [FIFEIE @ SCF 09y 23E UIE

=4x?—2x+1

try20 ROLIEAXDEFEEZ KD 78 X\,

(1) 3x+4—x-5 (2) 2x2+4x—1-+3x—3x?

(3) 2x—4y—5x—3y (4) 2a’43ab—b*+a*—ab+0b*
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121 %I Dk - Rk
Bx+5+(—2x+3)=3x+5—-2x+3
D =3x—2x+5+3 (D>ZDHID+ . FOEFITT )
=x+8 (FHEEAEELD D)
(5x+4) —(6x—2)=5x+4—6x+2) (D> ZDHIN —  FBEWIT5)
=5x—6x+4+2 (FHEIREEEDD)
=—x+6
try2l ROFHEZE L,
(1) (Gx—4)+(—3x+5) (2) (—Tx—6)+(Gx—4)
(3) (Bx—5)—(4x+6) 4) (=3x—1)—(—4x—2)
Bl 22 %I DOFEHE
D 32x+1)=3x2x+3x1 SrBciEHl
=6x+3 O(@O+2)=0OxO0+0OXA
® 2x(3x —5) =2x X 3x — 2x X5
=6x2—10x
try22 ROGEZEL,
(1) 2(2x+5) 2) —=3(—3x+4)

(3) x(—2x+3) (4) —x*(4—3x)



A DEHE(3) (458

123 %IHADRR()

2¢(3x—5)+3(x+1)=Q2xx3x—2x x5+ BXx+3x1)
=6x2—10x+3x+3
=6x2—Tx+3

try23 ROXFERE L,

(1) 3x(x+1)+42x—1) (2) 2x(x—3)—3(x+2)

(3) alx—2)+2x(x+5) 4) (2x—1Dx—2x(x+5)

Bl 24 %IHAX DR (2)

(x+3)2x—1)=x(2x—1)+32x—1)
=x(2x—1)+32x—-1)
=2x’—x+6x—3

=2x*+5x—3

try24 ROERE X

(1) (x+3)(x—6) (2) Bx—2)(x+2)

3) (2x+1)(Bx—2) 4) (a+2)(2a—3)
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@ 25
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TOVPHBIE JTe— AT

t ry25 ROBDVIGRERKD R I\,

(1) 4 (2) 9
(3) 49 (4) 5
(5) 17

26 FITHR(2)
ROKERZTEHSTICR LR S W\,

2 RO FHEIERILY
v (ﬁ> =3 a>0 @kgf\(«/;)zzmza

@ (4 —3)2=3
@ —J16=—,42=—-4

try26 ROBZEBRSZHOTICRLEI WV,

1 (V15)? (2) (-4/15)
3) 49 @) — /49

(5)  — /100
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il 26 W5 % ELBOER
ROR% \Ja DIHTRLERI Y,

RO
a> >0D
D J2xA/3=2x3=46 ’
Vo JaxJb=va Na_[b
Vb a
A/ 10 10
= |2 =42
©) NG = =/2
t ry27 ROEE . a DIETRLARI WV,
(1) J3xJT 2 J1Ix 2
A/ 15 14
3 4
ST @ 7
A/ 30
5
© 75
28 M ST ROLTY
RO % a~ b DIFICEIL L7 &,
o VIV RO FHERILY
=NAXAYS a>0 orx (Ja)'=+a*=a

=2./3

t ry28 ROKEEZIVO OFICEHL AE v,

1) 24 2) J8

(3) a1 @ 8o



1 XI7tE (4:EH)

%129 1 kG BRER0fEE)

2x=06 —3x=15
® r=+ (L 2Ths) @ x=—p  (WlE—3ThHb2)
x=3 x=-5

try20 RO 1KARREME RS,

(1) 2x=10 (2) 3x=15

(3) —5x=30 (4) —2x=8

%130 1 KGR DMEE2)

2x+3=9 L
0x=0-3 +3%4LICHIET D Tr A e L
@® 20 =6 (B2 3) @ 3x=6 EBHEADIIRATT D

) x=2 (51 D5)

try30 Ro1XGERXEME R0,
(1) 2x—6=8 (2) —3x—4=5

(3) 5x—3=3x+9 (4) —b5x—4=—2x+8



